[image: image1.png]


ITU    CIVIL ENGINEERING FACULTY

WATER SUPPLY AND ENVIRONMENTAL SANITATIONPRIVATE 


   RECITATION 7 —

       WATER NETWORK-HARDY-CROSS METHOD

1st Question:

The pipe diameter ratios for the following simple network are given as Db/Da=2 and Dc/Da=3. Determine the ratio of the lengths of pipes a, b and c such that each pipe has the same discharge. Use the Darcy-Weisbach equation with constant f for each pipe.   


2nd Question: 

Determine the discharge in each pipe of the following network shown in figure using Hardy-Cross method. The K values indicated in the figure. 


3rd Question: 

Determine the discharge in each pipe of the following network shown in figure using Hardy-Cross method. The K values indicated in the figure. 
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